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FACULTY OF COMMERCE
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INCOME TAX
Paper 1
(MCQ+Theory)
(Friday, 31-3-2017) Time : 2.00 p.m. to 4.00 noon
Time—Two Hours Maximum Marks—40
N.B. :— () Solve Q. No. 1 on OMR sheet during first half an hour.

(ii1) Q. No. 1 and Q. No. 2 are compulsory.
(i1i) All questions carry equal marks.
() WA % 1 NTHSR. IMe 9= TreaE o eNEer o™ A a9 Ufed.
() WA ® 1 WA H. 2 AEE R
(i) |E WA EE O R

MCQ
1. Multiple Choice Questions : 10
(@) Income tax is governed by ................
(A)  Income Tax Act 1961 (B) Income Tax Act 1951
(C)  Direct Tax Code (D) None of these
"""""""" SR STEeY FEfta shen S
(A) IR AT 1961 (B) 3M¥HT <l 1951
(C)  WoI& L G (D) YT TE
(@) ~ Which section of Income Tax Act defines income ?
(A)  Section 1 (4) (B) Section 2 (24)
(C) Section 3 (3) (D) Section 2 (1)

P.T.O.
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ST SN STIeRT HIFEm=] T FHod foeie 3.
(A) ©heH 1 (4) (B) <hetH 2 (24)
(C) hetH 3 (3) D)  <hetH 2 (1)

(zii) Exempted Income is given under ..............

(A) Section 2 (B)  Section 4
(C)  Section 10 (D)  Section 1
FERT B F o8 I SO TR

(A) A 2 (B)  <heTH 4
(C) haH 10 (D) <heH 1

@iv) Agriculture income is ..................

(A) Fully taxable (B)  Partly taxable
(C)  Fully tax free (D)  None of these
e — B

(A) A (B)  3T¥|: A
(C)  guid: HTgH (D) =mdet

(v) A employee received children education allowance at ¥ 125 per month

per child for 3 childrens. The exempted amount of his allowance will

be ..cccoeunnnn.

(A) R 2,400 p.a. (B) % 3,600 p.a.

(C) % 4,000 p.a. (D) % 5,000 p.a.

Th! A Tl ¥ 125 Ufd g a1 JEml 3 Jawel e wan fHesa
SR W N AT FE T ——

(A) 2,400 gfa o (B) ¥ 3,600 ufd =l

(C) % 4,000 wfa =l (D) ¥ 5,000 gfa =
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(vi)  Annual value of self-occupied house property is always .............

(A) Nil (B)  30% of NAV
(C)  Municipal value (D)  Standard value
@d: Ted SHoIed] Jedui aTsieh Heg ST
@A) fi= (B) NAV =1 30%
(C) T RUTClRT HeA (D) YT e
(vit) The rent fixed under Rent Control Act is termed as .............
(A) Fair rent (B) Standard rent
(C) Actual rent (D) - None of these
e =0 FHEEgR el 91 arg TEUTAT.
(A) Sfud wre (B)  wHIUE e
(C) TIYH “e (D) TRl TR
(vizz) Standard deduction from net annual value is ............
(A)  10% of NAV (B)  20% of NAV
(C)  30% of NAV (D)  40% of NAV
SRS i AR GEIYT e e
(A) 9l = 10% (B) dTtie o™ 20%
(C) ol = 30% (D) dTHie o™ 40%
(ix)  ~ Free meals provided to employees is exempted upto :
(A) T 100 per meal (B) T 50 per meal
(C) R 75 per meal (D) ¥ 120 per meal
TSI hEAHAT dd e HIthd Sup g e T HOE 3.
(A) % 100 ¥fd S&m (B) ¥ 50 Hfd @
(C) % 75 Wid e (D) % 120 wia &

P.T.O.
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(x) Income tax is a/an ...............

(A) Indirect tax (B) Direct tax

(C) Both (A) and (B) (D)  None of these

SRIGT L R

(A) 3TII& kY (B) TI& AT

(C) T (A) efor (B) (D) AT &

Theory

From the following particulars compute taxable income of Mr. Shinde of Latur
for the assessment year 2016-2017 : 10
(1) Basic pay ¥ 20,000 per month
(2) Dearness allowance ¥ 7,500 per month.
3) Commission @ 10% of turnover.

(Turnover achieved by Mr. Z is ¥ 1,25,000)
(4) Fixed medical allowance ¥ 12,500 p.a.
(5) Gift from employer T 25,000.
(6) Children education allowance @ ¥ 300 per month per child for 2

children.

Treftd faaomess $ft e AR A= hurs 9 2016-2017 HIHER0T Fumesiar Heiia

R

(1)
(2)
3)
4)
(%)
(6)

e 9dd ¥ 20,000 ¥fq wfeT

TemE o= ¥ 7,500 wfd m@fE

FHHYE SeAee=a 10% (st e = 2 1,25,000 = Sl helt)
feer Jufeg s T 12,500 wfa o

TSR feeret 92 ¥ 25,000.

o 91 @@= 9 JAE Gkt € 300 Uid HE
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Mrs. Sexena gives you the following details of her salary income. Compute

his income from salary for the Assessment Year 2016-2017 : 10
(1) Basic pay ¥ 22,500 per month
(2) D.A. T 5,000 per month

3) Hostel expenditure allowance ¥ 250 per month per child for 3

childrens.
4) Employers contribution to R.P.F. at 15% of salary
(5) Free services of cook and gardeners at ¥ 1,250 per month.
T8 9T Fre as ddd 2016-2017 A RHER0 guikiiar feiia w1
(1) o8 TR % 22,500 Hfd Hal
(2)  HERME ¥« % 5,000 W W
(3) AHdNE TE WAl dH Hendrdt ¥ 250 Uia Afewn ufd g
(4) WA wfas et FEe SemseRe ANeE da= 15%
(5)  TEURI 9 HeSE Hwd dem % 1,250 WA AR
Or
(fenam)

Write any five incomes exempted under section 10.

HeH 10 TAA HIGH ST DIV Ure Sea=rel At fera.

Mr. Rajesh is the owner of a house property in Nanded. The property is let

out the following details are available : 10
(1) Municipal valuation % 5,75,000
(2) Fair rent % 5,00,000
3) Standard rent % 5,50,000
4) Municipal tax paid T 62,500
P.T.O.
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(5) Ground rent 3 2,500
(6) Fire insurance < 5,000
(7) Interest on capital borrowed T 62,500

Compute income from house property for the assessment year 2016-17.
St TS, AeT I TeHURS Hiessh Ted o PR A Wiea™ feeiel oM. SaX gt
el JH

(1)  TRUIfcAehl o Z 5,75,000
2)  Sfad g % 5,00,000
(3)  wHIUE@ We % 5,50,000
(4) TR H % 62,500
(5) ST e % 2,500
6) 34 fomm % 5,000
(7)  JUSEER Jqeed] oo oS Z 62,500
2016-17 & HERU IEiEEl @ TURITIYA 3@ SFUE 6.
Or
(fenam)

Mr. Abhay is the owner of two houses the following details are available :

Particulars House 1 House 1II
(1) Municipal valuation 1,50,000 2,50,000
2) Fair rent 3,00,000 3,50,000
(3) Standard rent 4,00,000 3,00,000
4) Municipal taxes paid 40,000 25,000
(5) Ground rent 2,500 3,000
(6) Interest on loan borrowed Nil 1,05,000

Compute income from house property for the assessment year 2016-2017.
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o 31T T SF WA Hiaeh 3led. @ielld dusiial gifde e

qAugTies w1 w11
(1)  TROTfcehl Hoo 1,50,000 2,50,000
2) Sftaa W 3,00,000 3,50,000
(3) oG «re 4,00,000 3,00,000
(4)  TRUTART HT 40,000 25,000
(5) S We 2,500 3,000
(6)  SIERTHEMES! Hdoiedl heiodiel o] IRLCT 1,05,000

2016-2017 FIAURT IUEET @E T8 FIIET 3cd+ STFUE .
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